Multiplicacion por Celosia (D)

Use la multiplicacion por celosia para hallar cada producto.

5 8 1 39 3 6 0 0
1 2 5
6 1 0
7 0 9
581 x 167 = 393 x 210 = 600 x 509 =
2 1 4 4 7 3 2 9 2
7 3 2
7 9 6
2 3 0
214 X772 = 473 x 393 = 292 x 260 =
8 1 1 8 9 8 75 7
2 7 3
8 9 5
9 2 9
811 x 289 = 898 x 792 = 757 x 359 =
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Multiplicacion por Celosia (D) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

1 0 0 )

6 0 0 8

811 x 289 = 234,379

898 x 792 = 711,216

9 2 0

292 x 260 = 75,920

757 x 359 = 271,763
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